Efficiency vs P,

~ 0.1
0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.01

efmciency vs p

1.0

Ratio

e

o
©
a

=

o
iN

A

0 18 el

IC{HP ggd..n{vmu. +6p0evt
ﬁégé %%igﬁ 1RO TLIERS 1000evt

—ehoC

11111

= 0.1
20.09
20.08
o
50.07
5
0.06
0.05
0.04
0.03
0.02
0.01

.........................................

........................

Ratio

e

o

©

101
wlllllllllllll
[

N

= : : ; :
o

=

N

w

Efficiency vs @

s 0.5

LTLT SRR ORISR SN SR Moot
e S S (O SR
c0.08------- i | R [ AR
Q E: : ] : : : :
o Ereeenees R S
2‘E0'07:: : ] : : : :
© F : ; : : : :

O SIRRI ¢ AL S AR S

Q.08 o herfi e




	Contents
	Page 1


